MAR 30 2023 MAT330- C Analysis HWS Sample Sol-w **~~~** $\left[\begin{array}{c} \mathbb{Q} \\ \mathbb{Q} \\$ X≠-y $(x,y) \longrightarrow \begin{cases} \frac{X}{x+y} \\ 0 \end{cases}$ X = - Y $\implies \lim_{X\to\infty} \lim_{y\to\infty} f(x,y) = \lim_{X\to\infty} 0 = 0.$ $(b) \lim_{X \to \infty} f(x,y) = \lim_{X \to \infty} \frac{x}{x+y} = 1$ $\int_{y \to \infty}^{\infty} \int_{x - 7\infty}^{\infty} f(x, y) = \int_{y \to \infty}^{\infty} 1 = 1.$ (C) $\lim_{t \to \infty} f(t,t) = \lim_{t \to \infty} \frac{t}{2t} =$ $= \lim_{b \to \infty} \frac{1}{2} = \frac{1}{2}.$

Conclusion: exchanging limits must be instified ? $f_n: \mathbb{R} \to \mathbb{R}$ $\left(n \in M_{20} \right)$ Q2 $\chi \mapsto \frac{\chi^2}{(1+\chi^2)^n}$ $\begin{array}{c}
g_{N}: R \rightarrow R \\
\chi \mapsto \sum_{n \in O} f_{n}(x)
\end{array}$ (NEN/≥°) $\lim_{N \to \infty} g_N(x) = \lim_{N \to \infty} \sum_{n=0}^{N} \frac{x^2}{(1+x^2)^n} .$ Now, $\int_{N=0}^{N} (1+\chi^2)^{-N} = \frac{1+\chi^2 - (1+\chi^2)^{-N}}{\chi^2}$ 50 $g_N(x) = 1 + x^2 - (1 + x^2)^{-N}$. Note $g_N(0) = O$, so him $g_N(0) = \lim_{N \to \infty} O = O$. If $X \neq 0$, $1 + \chi^2 \geq 1$ so $(1 + \chi^2)^{-N} \xrightarrow{N \to \infty} D$ so $\lim_{N \to \infty} g_N(x) = 1 + \chi^2$. We find $\int (x) \equiv \lim_{N \to \infty} g_N(x) = \begin{cases} 0 & x = 0 \\ 1 + x^2 & x \neq 0 \end{cases}$

Claim: {}_N(x)}_N does not converge uniformly in x. Proof: Assume otherwise. Then VEXO] NEEN: if N≥NE then ₩ × · (₩) 19m(x)-g(x)1<E $(1+x^2)^{-N} \leq \varepsilon$ Take by of both sides $-N\log(1+x^2) < \log(\varepsilon)$ $\int_{WLOG}^{S \leq 1}$ But $log \leq 0$ on (0,1], so and $log(1+x^2) > 0$. Hence log(≥) ≤0 $N \log(1+\chi^2) > - \log(\varepsilon) = \log(\frac{1}{\varepsilon})$ $N > \frac{\log(1/\epsilon)}{\log(1+\chi^2)}$ Take $X : 2N_{\varepsilon} = \frac{\log(1/\varepsilon)}{\log(1+x^2)}$ $\log(1+x^2) = \frac{\log(1/\epsilon)}{2N_{\epsilon}}$ $x = \int \ell x \rho \left(\frac{\ell s_{p}(1/\epsilon)}{2 N_{\epsilon}} \right) - 1$ This X, for any E<1, will violate *. Indeed, then

 $(1 + exp(\frac{log(1/c)}{2N}) - 1) =$ $= \exp(\frac{1}{2}\log(\varepsilon)) = \sqrt{\varepsilon} > \varepsilon$ • Jor E≤1. So fgulxi), does Not converge miformly. Ø For any fixed N, $\mathbb{R} \ni X \longrightarrow \mathbb{N}(x) = 1 + X^2 - (1 + x^2)^{-N}$ is continuous. The limit f^n , $g_{\infty}(x) = \begin{cases} 0 & x=0\\ 1+x^2 & x\neq 0 \end{cases}$ is NOT continuous. It has a jump discont. at x=0. Conclusion: The pointwise limit goo of a sequence of continuous pr's 29NJN is NOT continuous. This is bes. The limit is pointwise

but not mniform.

Beware that I theorem That says: "The miform limit of cont. f"s is cont. " (See Rudin Ch. 7). $\begin{bmatrix} Q3 \end{bmatrix} \xrightarrow{\int_{n} : [o, i] \rightarrow R} (n \in N) \\ \times \mapsto n^{2} \times (1 - x^{2})^{n} \end{bmatrix}$ (a) $\lim_{n \to \infty} f_n(x) = \lim_{n \to \infty} n^2 x (1 - x^2)^n = 0$. if x = (on), exp $\eta \mapsto (1-\chi^2)^{\eta} =$ = lxp(nkog(1xe)) <0 beats poly. non2. if x=0,1 we have the limit of the 2000 sequence. (b) <u>Claim:</u> Sfn.)n -> O but the convergence

is merely perintwise, not miform. If, V Ero, There were some <u>Proof</u>: NEEN S.I. any NZNE would imply $lfn(x) - 01 < \varepsilon$ ¢ $| n^2 \times (1-x^2)^n | < \varepsilon$ Ð $\chi^2 \times (1-\chi^2)^n < \varepsilon$ Take log of both sides: $2\log(n) + \log(x) + n \log(1-x^2) < \log(c)$. Since $\xi \leq 1$ (WLOGL), $\log(\xi) \leq 0$, and similarly, $\log(1-x^2) \leq 0$. So much both sides by (-1) to get $-2\log(n) - \log(x) + N\log(\frac{1}{1-x^2}) > \log(\frac{1}{\epsilon})$ As $X \rightarrow 0$, $1-x^2 \rightarrow 1$, so $\log(\frac{1}{1+x^2}) \rightarrow 0$, and it becomes hander and hander to satisfy the ineq. for fixed E. More formally, since $log(n) \leq \frac{NS}{S}$ $\forall S > 0, N > 0$ $log(n) \leq 2\sqrt{n'}$ $\forall n > 0$

so if $n \gg \frac{64}{a^2} \exists \alpha > 0$, $2\log(n) \leq 4 \ln \leq \frac{1}{2} \leq n$ Use this with $\alpha = lng(\frac{1}{1-x^2})$. Hence if $N > \frac{64}{\log(1-x^2)^2}$, $2\log(n) \leq \frac{1}{2}\log(\frac{1}{1-x^2})n$ whence $-2\log(n) - \log(x) + N\log(\frac{1}{1-x^2}) \ge$ $\frac{1}{2}\log(\frac{1}{1-x^2})N - \log(x) > \log(\frac{1}{2})$ $= \frac{1}{2} \log(x) + \log(\frac{1}{\epsilon})$ $= \frac{1}{2} \log(\frac{1}{1-x^2})$ We see that as x->0, this becomes harder and harder to satisfy. No one NZEN may work for one X. Ľ Note: I wrote The above for The sake of completeness. To obtain

full credit it was certainly chough to argue less explicitly, just indicating the constraint becomes hardor to satisfy as X=0. $\int_{0}^{\infty} f_{n} = \int_{0}^{1} n^{2} \chi((-\chi^{2})^{n} d\chi)$ (C) $= \chi^2 \int_{z=1}^{0} (-\frac{i}{2}) y^h dy$ $y := 1 - \chi^2$ dy = -2xdx $= \frac{n^2}{2} \int_{y=0}^{l} y^n dy$ $= \frac{1}{2} \mathcal{N} \mathcal{Y}^{n+1} \Big|_{\mathcal{D}}^{1} = \frac{1}{2} \mathcal{N} \xrightarrow{n \to \infty} \mathcal{O} ,$ Conversely, $\int_{a}^{l} \lim_{n \to \infty} f_n = \int_{0}^{l} 0 = 0$. <u>Conclusion</u>: If fn -> f pointwise but not uniformly it may certainly happen that lim Sfn + Slinfn.

(d) If we replace for al for := to for, we find still $\lim_{n\to\infty}\tilde{y}_n=0$ But now $\lim_{N\to\infty}\int_{0}^{t}\widetilde{f_{n}} = \frac{1}{2} \neq \int_{0}^{t}\lim_{N\to\infty}\widetilde{f_{n}} = 0,$ Conclusion: Even if all limits are finite this problem may occur, of not being able to exchange int. and limits. Let NENZI, $\int Qn J_{n=1}$, $\int Bn J_{n=1}$, $\sum_{n=1}^{N} C$, $B_k := \sum_{n=1}^{k} B_n$ $(k \ge i)$; $B_0 := 0$ $\overline{Q4}$ Claim: For any $M \in \{1, ..., N-1\}$, $\sum_{n=M}^{N} (a_n b_n = a_N B_N - a_M B_{M-1} - \sum_{n=M}^{N-1} (a_{n+1} - a_n) B_n$ Proof: Note Bk-Bk-i = Bk so

 $\sum_{n=1}^{N} (1-\varepsilon)^{n} Q_{n} = (1-\varepsilon)^{N} A_{N} - \sum_{n=1}^{N-1} [(1-\varepsilon)^{n+1} - (1-\varepsilon)^{n}] A_{N}$ $A_{0} = 0$ $= (1-\varepsilon)^{N}A_{N} + \varepsilon \sum_{i=1}^{N+1} (1-\varepsilon)^{n}A_{n}$ 10 30 Let Sro. Pick NSEN: if N>NS, IAn1<S. (Possible since An -> 0). Then $\mathcal{E}\sum_{n=1}^{N+1} (l-\varepsilon)^n A_n = \mathcal{E}\sum_{n=1}^{N-1} (l-\varepsilon)^n A_n + \varepsilon \sum_{n=N-1}^{N-1} (l-\varepsilon)^n A_n$ >:1 >:1 $\left| \boxed{\mathbb{I}} \right| \leqslant \varepsilon \underbrace{S}_{n=N_{r}+1}^{N-1} (1-\varepsilon)^{n} = \underbrace{S}_{n=N_{r}+1}^{N-1} (1-\varepsilon)^{N-1} = \underbrace{S}_{n$ $= \left\{ (1 - \varepsilon)^{N_{5} + 1} (1 - (1 - \varepsilon)^{N - N_{5} - 1} \right) \right\}$ $|\mathbf{I}| \leq |\mathbf{E}|_{\mathbf{I}}^{N_{\mathbf{I}}} (\mathbf{I} - \mathbf{E})^{n} \mathbf{A}_{\mathbf{n}}| \leq \mathbf{E}|_{\mathbf{I}}^{N_{\mathbf{I}}} (\mathbf{I} - \mathbf{E})^{n} |\mathbf{A}_{\mathbf{n}}|$ < E E IANI We find $\left|\sum_{n=1}^{N} (1-\varepsilon)^{n} G_{n}\right| \leq (1-\varepsilon)^{N} |A_{N}| + \varepsilon \sum_{n=1}^{NS} |A_{n}| + S(1-\varepsilon)^{NS+1} (1-(1+\varepsilon)^{N+NS-1})$

Take now the limit N->00 to get: $\lim_{N \to \infty} \left| \sum_{n=1}^{N} (1-\varepsilon)^n a_n \right| \leq \varepsilon \sum_{n=1}^{\infty} |A_n| + \delta (1-\varepsilon)^{N_{\mathcal{S}} + 1}$ (Note S, N5 are indep. of N!) Take now the limit E->0 to get: $\lim_{\varepsilon \to 0} \lim_{N \to \infty} \left| \sum_{n=1}^{\infty} (1-\varepsilon)^n a_n \right| \leq S$ (Note S,NS are indep. of E!) Since 8:0 was arbitrary, we conclude $\lim_{\epsilon \to 0^+} \lim_{W \to \infty} \sum_{n=1}^{N} (1-\epsilon)^n a_n = 0$ <u>Step 2</u>: If $\sum_{n=1}^{\infty} a_n \neq 0$, define $\Omega_o := -\sum_{n=1}^{\infty} \Omega_n$ W.T.S. $\int_{\varepsilon \to o^{\dagger}}^{\infty} \int_{n=1}^{\infty} (1-\varepsilon)^n dn = \sum_{n=1}^{\infty} dn$ $\iff h_0 + \lim_{\epsilon \to 0^+} \sum_{n=1}^{\infty} (1-\epsilon)^n \quad \alpha_n = \alpha_0 + \sum_{n=1}^{\infty} \alpha_n$ $\underset{\substack{k \to 0^{\circ}}}{\not =} \int_{n=0}^{\infty} (1-\varepsilon)^n a_n = \int_{n=0}^{\infty} a_n$

Define $b_n := a_{n-1}$ $\forall n \ge 1$ Note $\sum_{n=1}^{\infty} b_n = 0$ by construction. WITIS.

 $\lim_{\varepsilon \to 0^{\dagger}} \sum_{n=0}^{\infty} (1-\varepsilon)^n \hat{B}_{n+1} = \sum_{n=0}^{\infty} \hat{B}_{n+1}$



 $\underset{\varepsilon \to 0^+}{\longleftrightarrow} \lim_{\varepsilon \to 0^+} (1-\varepsilon)^{-1} \underbrace{\sum_{n=1}^{\infty} (1-\varepsilon)^n b_n}_{n=1} = \underbrace{\sum_{n=1}^{\infty} b_n}_{n=1}$

Now since we've just shown in step 1 that $\lim_{\varepsilon \to 0^+} \sum_{n=1}^{\infty} (1-\varepsilon)^n b_n = \sum_{n=1}^{\infty} b_n$

and since fim (1-E) = 1, were finished.

Ø

[extra] Q's will be solved in the end. W/ Some radius R70 of Convergence.

⇒ f is analytic on B_R(0) So we may choose any other point in BROD to make an expansion, just so long as we make the neur radius ef conso. Smaller: Za P a R U r := R - 1201 Though This was not explicitly asked land not required for full credit), lates calculate the new coeff. o $\int_{1}^{\infty} a_n z^n = \int_{1=0}^{1} b_n (z - z_0)^n$ To find by, let us calc. f(2) = f(2-20+20) $= \sum_{n=0}^{\infty} \alpha_n (2 - 20 + 20)^n$ $= \sum_{n=0}^{\infty} a_n \sum_{j=0}^{n} {\binom{n}{j}} (2-20)^j \frac{1}{20}$



Taylor's thm. says

$$f(2) = \int_{\infty}^{\infty} \frac{f^{(N)}(0)}{n!} 2^{n}$$

$$f^{(2)} = \partial_{2}^{m} (1-2)^{-m}$$

$$= (-m)(-m-1) \cdots (-m-n2+1)(1-2)^{-m-n}$$
Hence $f^{(n)}(0) = (-1)^{n} m(m+1) \cdots (m+n-1)$

$$= (-1)^{n} \frac{(m+n-1)!}{(m-1)!}$$
Hence $f^{(2)} = \int_{m=0}^{\infty} (-1)^{n} \frac{(n+m-1)!}{(m-1)!} 2^{n}$

$$= \int_{m=0}^{\infty} (-1)^{n} \frac{(n+m-1)!}{(m-1)!} 2^{n}$$

$$desired exponsion$$

$$coeff.$$

$$f! R \rightarrow R, \quad x \mapsto \int_{exp(-1/x^{2})} x > 0$$
Want Taylor coeff. about $2ero$.

$$f^{(n)}(0) = 0 \quad b.c. \quad f^{(n)}(x) = exp(-1/x^{2}) \cdot polyn(x)^{1}$$

against how quickly exp(-1/x2) -> 0 as x -> 0, $\implies \sum_{n=0}^{\infty} \left(\frac{p^{(m)}(o)}{n!} x^n = 0 \quad \text{for } |X| \text{ small}\right)$ But we know f=0 for x>0 small! (exp is nover zero) so f connot be Analytic at X=0, though it is smooth on R and analytic on R. 203, and has an ess. sing. on X=0, Define $\sum_{n=1}^{\infty} n^{-s}$] serR. Q10 (a) Seek phase diagram of s (conro., abs. Cono.,) This is the formous Riemann zeta p?. Claim: It converges as long as S>1. Proof: By the integral test for convergence ef a series (see...), are have ∑_n-S CONIDErges ⇐>

 $\int_{\infty}^{\infty} x^{-s} dx < \infty$ Since n is decreasing. But $\int_{1}^{\infty} x^{-s} dx = \frac{1}{-s+1} \left| x^{-s+1} \right|_{1}^{\infty}$ $= \begin{cases} \frac{1}{1-S} & S > 1 \\ 0 & S \le 1 \\ 1 & 0 & S \le 1 \end{cases}$ Since $N^{-s} \ge 0$, the cano. is abs. Claim: If SEI series diverges. Proof: Same integral comparison test. Do the same for $\sum_{n=1}^{\infty} \frac{(-1)^n}{n^s}$. (b) Note this is minus the formons Diricklet eta pⁿ. By the above clearly if S>1, we get abs. cono. and if SSI, no abs. cono. Claim: If S>0 we have convergence. If S &O WE get divergence. Proof: By the alternating series test (see...)

<u><u>S</u>, (-1)^han converges if</u> ()) $M \mapsto |An|$ is monotone decr. (2) $\lim_{n \to \infty} a_n = 0.$ (1) and (2) hold if \$20. Now if SEO we cannot converge since M→ns is not -> 0 as n→A. Ŵ The LHS is QIOI cb) @ S=1 (mp to a minns sign). Also, $\int_{-1}^{\infty} \frac{(-1)^{n+1}}{n} = 1 - \frac{1}{2} + \frac{1}{3} - \frac{1}{4} + \frac{1}{5} - \cdots$ n=1 $= \sum_{n=1}^{\infty} \frac{1}{2n-1} - \frac{1}{2n}$ $\frac{1}{2n-1} \left[2n - (2n-1) \right] \frac{1}{2n} = \frac{1}{2n(2n-1)}$ Since the two are equal, the AHS < 00 too. Q12 For any acre, want a rearrangement f: N-N Li.e. a permitation, = bijection)

S.t. $\sum_{n=1}^{\infty} \frac{(-1)f^{(m)+1}}{f^{(n)}} = \infty,$ (This is the famous Riemann thm.) Proceed as follows: By the integral test for conv. of series, $\int_{-\infty}^{N} \frac{1}{x} dx \leq \int_{-\infty}^{N} \frac{1}{n} \leq 1 + \int_{-\infty}^{N} \frac{1}{x} dx$ log(N) log(N) $\xrightarrow{N} \underbrace{\prod_{n=1}^{N} \prod_{n \to \infty}^{N} \prod_{n \to \infty}^{N} \prod_{n \to \infty}^{N} \underbrace{\prod_{n=1}^{N} \prod_{n \to \infty}^{N} \underbrace{\prod_{n \to \infty}^{N} \prod_{n \to$ So write $\sum_{n=1}^{N} \frac{1}{n} = \Omega t \log(N) t \epsilon_N$ I AELO, 1) and ENELO, 1) depends on N but s.t. $\frac{\varepsilon_N}{\log(N)} \rightarrow 0$ as $N \rightarrow \infty$. $\implies \sum_{n=1}^{\infty} \frac{1}{2n} = \frac{1}{2} \alpha + \frac{1}{2} \log(n) + \frac{1}{2} \varepsilon_{N}$



ratio of these torms, smy, L:= MN+MM terms,

us/ N, M fixed, but K->00, then that

partial L sun equals:

 $\frac{1}{2}\alpha + \log(2) + \frac{1}{2}\log(KN) + \varepsilon_{KN} -$

- 12a - 12log(KM) + EHM

 $=: \log(2) + \frac{1}{2} \log(N/M) + \tilde{\mathcal{E}}_{K}$

so as $h \rightarrow \infty$ we find log(2JN/m)

-> can get any # of this form.

More generally, let $5N_{H}Y_{H}$, $5M_{H}Y_{K}$ be

100 riable lengths, so that

 $\frac{N_{H}}{M_{R}} \xrightarrow{H \to \infty} \beta \in \mathbb{R}$

Then we get $log(2 \int p^{-1}) \stackrel{!}{=} \alpha$.

Pich $\beta = \frac{1}{4} \frac{2^{\alpha}}{c^{\alpha}}$. Q13 See Example 7.32 in the lecture notes. $\boxed{Q14}$ I(R) := $\oint \frac{\cos(\pi z)}{z(z-5)^2} dz$ ∂B_R(0) =: f(2) so by residue formula, $I(P) = 2\pi i \operatorname{res}_{o}(P)$. $res_{o}(f) = \lim_{2 \to 0} \frac{2}{2(2-5)^{2}} = \frac{1}{25}$ \rightarrow I(R) = $2\pi i \frac{1}{25}$. € If R>5, ∃ two poles so we need to add also the other contribution: $\operatorname{Yes}_{S}(f) = \lim_{z \to 5} \partial_{z} (z - 5)^{2} \frac{(\omega S \operatorname{CH} z)}{z (z - 5)^{2}} =$ $= \lim_{\substack{2 \to \zeta}} \partial_2 \frac{\cos(\pi 2)}{2} =$ $= \lim_{\substack{2 \to \infty}} \left[-\frac{\cos(\pi z)}{z^2} - \frac{\pi \sin(\pi z)}{z} \right]$

 $= \frac{1}{2.5}$ \Rightarrow I(R) = 2 x 2\pi i $\frac{1}{25} = \frac{4\pi i}{25}$. Let l'be a simple CCW contour. [Q15] for any tec. $\frac{\text{Proof}}{(2-\omega)^3}$ is analytic if WEint (5) we get the result by Comchy, If WE int (5), this is correct by The residue thm.: $\operatorname{Nes}_{W}(\mathcal{F}) = \lim_{\mathfrak{D} \to W} \frac{1}{2} \partial_{\mathfrak{D}}^{2} (\mathfrak{D} - \mathfrak{W})^{3} f(\mathfrak{D})$ = $\lim_{2 \to 0} \frac{1}{2} \partial_2 (2^3 + t^2)$ $= \lim_{z \to \omega} \frac{6}{2} z = 3 \omega.$

Hence then $\oint f(z) dz = 2\pi i \cdot 3W = 6\pi i W$. Ø Than fre cannot have a max on Ω . P_{coof} : Let $g: \mathcal{Q} \to \mathbb{C}$ $\mathcal{Q} \to \mathcal{Q}(\mathcal{P}(\mathcal{Z}))$. Since exp is analytic, g is. Moreover, 19(2) = 12xp(fr (2)+1fr(2))1 = exp (fr (2)) Apply max principle (Corollary 7,52 in the notes) on g to get that 2 → exp(fr(2)) cannot have a max on SZ, and since exp is monotone incr. and injective on R, our result. X

Extras
Q5 and Q12 have already appared aborde.
[Q6] We calc. The radius of conv. of series roig The Canchy-Hadamard formula:
$R = \left(\lim_{n \to \infty} \operatorname{Sup} \operatorname{Ani}^{h}\right)^{-1}$
Note: OOne may also use the vatio test:
$2 \mapsto \sum_{n=0}^{\infty} q_n 2^n$ converges when $\left(\lim_{n \to \infty} \left \frac{q_{n+1} 2^{n+1}}{q_n 2^n} \right \right) < 1.$
(2) Conchy-Hadamard comes from root test:
$2 \mapsto \sum_{n=0}^{\infty} a_n t^n \text{converges other} \left(\lim_{n \to \infty} \sup_{n \to \infty} [a_n t^n]^n \right) < 1$
$(\Rightarrow 2 < (lim_{sup} a_m '/n)^{-1}$
(a) $a_n = (log(n))^2$
$[\Omega_n]^{\prime n} = \log(n)^{\frac{2}{n}} = \exp(\log(\log(n)^{\frac{2}{n}}))$
$= e \times p(\frac{2}{n} \log(\log(n)))$
But poly. wins over logolog. $\Rightarrow k_n ^{V_n} \rightarrow e^{e} = 1$ $\implies R=1$.

(b) (m = n)ratio lest: $\left|\frac{a_{n+1} \mathcal{L}^{n+1}}{a_n \mathcal{L}^n}\right| = \frac{(n+1)!}{n!} \left|2\right| = (n+1)! \left|2\right| \longrightarrow \infty$ \implies R=0. (c) $a_n = n^{-2}$ $|Q_n|^{\prime n} = (n^{-2})^{\prime n} = n^{-2/n} = exp(-\frac{2}{n} \log(n))$ $\rightarrow e^{\circ} = 1. \Rightarrow R = 1.$ $(d) \quad 0n = \frac{n^2}{4^n + 3n}$ $[Qn]'^{h} = exp\left(\frac{h}{n}\log\left(\frac{n^{2}}{q^{n} + 3n}\right)\right)$ $= e \times p(\frac{2}{n} \log(n)) - \frac{\log(4^{n} + 3n)}{n})$ $\sim l \propto p(-log(4(1+3.4^{-h}n)))$ $\sim e_{\pi p} (-log(4)) = \frac{1}{4}$ $\Rightarrow R = 4$ (e) $a_n = (n_i)^3$ (3n)

We have by the Stirling approx.: $\mathcal{N}(\sim \sqrt{2\pi n} \left(\frac{n}{e}\right)^n$ $= \int 2\pi n \exp(n \log(\frac{n}{e}))$ $= \int 2\pi n^{-1} e^{2\pi n} \left(n \left(\log (n) - 1 \right) \right)$ $\sim \int n^{-1} e^{n \log(n)}$ Hence $a_n \sim \frac{n^{3/2} e^{3n \log(n)}}{(3n)^{1/2} e^{3n \log(3n)}}$ ~ $\operatorname{Mexp}(3n \log(\frac{n}{3n}))$ ~ n exp(-3 log(3)n) an ~ exp(-3log(3)) $\implies R = exp(3\log(3)) = 27$ $n = \frac{f_n(\alpha) f_n(\beta)}{f_n(\alpha) n!} \quad \alpha, \beta \in \mathbb{C}, \quad \mathcal{N}_{\infty}$ (f) $f_{n}(\zeta) := \int_{j=0}^{n-1} \left(\zeta + j\right) = \zeta \left(\zeta + 1\right) \left(\zeta + 2\right) \cdots \left(\zeta + n - 1\right)$ This corresponds to the hypergeometric series.

$$\begin{aligned} \left| \frac{\alpha_{n+1}}{\alpha_n 2^n} \right| &= 12 \text{ i} \left[\frac{f_{n+1}(\omega)}{f_n(\omega)} \right| \left| \frac{f_{n+1}(p)}{f_n(p)} \right| \left| \frac{f_n(\omega)}{f_{n+1}(\omega)} \right| \frac{n!}{n!} \\ \left| \frac{\beta_{n+1}(z)}{\beta_n(z)} \right| &= 12 \text{ i} \frac{1}{p_n(\omega)} \right| \frac{f_{n+1}(p)}{p_{n+1}(\omega)} \frac{n!}{p_{n+1}(\omega)} \\ \\ So \quad \text{We} \quad f_{n+1} \\ \frac{\alpha_n 2^n}{\alpha_n 2^n} \right| &= 12 \text{ i} \frac{1}{\alpha_n n!} \frac{n!}{(n+1)!} \\ \frac{\alpha_n 2^n}{n!} \\ &= 12 \text{ i} \frac{1}{\alpha_n n!} \\ \\ &= \frac{n!}{n!} \\ \\ \frac{\alpha_n 2^n}{\alpha_n 2^n} \\$$

Q16 Part 1 £ € C \ [0,4] $T(z) := \int_{k=0}^{2\pi} [2-2\cos(k)-z]^{-1} dk$. Rewrite as a contour int. raise $\lambda := e^{ik}$: $dx = e^{ik} i dk = i \lambda dk$ $I(2) = \oint (2 - \lambda - \frac{1}{\lambda} - 2)^{-1} \frac{1}{i\lambda} d\lambda$ $\lambda \in \partial B_{i}(0)$ $= -i \oint_{\lambda \in \partial B_{1}(0)} ((2-2)\lambda - 1 - \lambda^{2})^{-1} d\lambda$ Write $\beta := \frac{1}{2}(2-2) \implies \beta = 2-2\beta$ $\implies (2-2)\lambda - 1 - \lambda^2 = 2\beta\lambda - 1 - \lambda^2$ $= (\lambda - \beta - \beta^{2} - 1^{7})(\lambda - \beta + \beta^{2} - 1^{7})$ $= (\lambda - \beta - \beta^{2} - 1^{7})(\lambda - \beta + \beta^{2} - 1^{7})$ $= :-\alpha_{+}(\beta)$ $\Rightarrow I(2) = -i \oint d\lambda \frac{1}{(\lambda - \alpha_{+}(\beta))(\lambda - \alpha_{-}(\beta))}$ JE2B, (0) Now there are cases to be considered according to the value of PEC: (laim: If BE[-1,1] Then lat(B) 1=1.



Since $d_{\pm}(\beta)$ are in out of B,(0), using the residue formula we find. $I(2) = -i \oint d\lambda \frac{1}{(\lambda - \alpha_{+}(\beta))(\lambda - \alpha_{-}(\beta))} = \lambda \in \partial B_{1}(0)$ $= -\frac{1}{2\pi i} \frac{\frac{1}{1}}{\alpha_{+}(\beta) - \alpha_{-}(\beta)}$ on which one is in/out of B₁(0) $= \frac{\pm 2\pi}{\beta + \sqrt{\beta^2 - 1^2} - \beta + \sqrt{\beta^2 - 1^2}} = \frac{\pm 2\pi}{2\sqrt{\beta^2 - 1^2}}$ $= \frac{1}{\sqrt{\beta^2 - 1}},$ $\implies I(z) = \frac{\pm \pi}{\sqrt{\frac{1}{4}(2-z)^2 - 1^2}}$ At least

Part 2 $T(\xi) = \int \frac{e^{-2\pi i x \xi}}{\cos h(\pi x)} dx$ XER $f(z) := \frac{e^{-2\pi i \xi z}}{\cos h(\pi z)}$ Meromor. 21-R 121 ZitR. 3i/2 ×R. Þ -R (05h(TZ)=0 (⇒ $1 + e^{2\pi 2} = 0$ $\langle = \rangle$ \iff $2\pi 2 = i\pi + 2\pi in$ (neZ) $z = \frac{i}{2} + in$ (n $\epsilon \mathbb{Z}$) $2 \in i \left\{ \frac{1}{2}, \frac{3}{2}, \frac{5}{2}, \frac{1}{2}, \frac{3}{2}, \frac{5}{2}, \frac{1}{2} \right\}$ \mathcal{N}_{R} includes only the poles at $\frac{i}{2}$ and $\frac{3i}{2}$. Each pole is simple:

 $(2 - \frac{ie}{2})f(2) = (2 - \frac{ie}{2})exp(-2\pi iz 2)$ $\frac{1}{2} b \left(- \pi 2 \right) \left(1 + e \left(2 \pi 2 \right) \right)$ $= 2e^{-2\pi i \xi 2 + \pi 2} \frac{2 - i \xi}{e^{2\pi 2} - e^{2\pi i \xi}}$ $\frac{1}{2} \left(\frac{1}{2} \right) \left(\frac{1$ $= 2e^{-2\pi i \xi \frac{i^{2}}{2}t i \pi \frac{e}{2}} (2\pi e^{2\pi \frac{i^{2}}{2}})^{-1}$ $= -\frac{e^{\pi \xi l + i\pi \frac{l}{2}}}{\pi} = \frac{7}{\pi i}$ l=1 $\int \frac{e^{+3\pi}}{\pi i}$ l=3 Vertical legs: $\int_{0}^{2} \frac{e^{-2\pi i \zeta \left[R + i x\right]}}{\cosh \left(\pi \left(R + i x\right)\right)} i dx \leq 1$ $\begin{cases} \int_{0}^{2} \frac{e^{4\pi i_{2}i}}{\frac{1}{2}!e^{\pi i_{2}x}} - e^{-\pi i_{2}x} dx \sim 4e^{4\pi i_{2}i} - \pi R \rightarrow 0. \end{cases}$ > ette - ETTR

The top leg equals: $\int_{-R}^{R} \frac{e^{2\pi i g(x+2i)}}{(\cos h(\pi x+2i))} dx = e^{4\pi g} \int_{-R}^{R} \frac{e^{-2\pi i g x}}{(\cos h(\pi x+2\pi i))} dx$ $\xrightarrow{R \to \infty} e^{4\overline{1}\overline{1}\overline{5}} \overline{1}(\overline{5}).$ Hence res. formula suys $(1 - e^{4\pi\varsigma})I = 2\pi i \left(\frac{e^{\pi\varsigma}}{\pi i} - \frac{e^{3\pi\varsigma}}{\pi i}\right)$ $= -2e^{2\pi\xi}(e^{\pi\xi}-e^{-\pi\xi})$ $= -4e^{2\pi \xi} sinh(\pi \xi).$ We find $L(z) = -4e^{2\pi z} \sinh(\pi z)$ $1 - e^{4\pi z}$ $= \frac{1}{\cos h(\pi_{z})}$

Q18 First define $\prod_{i=1}^{\infty} dt \ e^{t} t^{2-i} dt$ (2>0) Since the int. conv. near t=0 and $t = \infty$, \prod_{i} is well-def, (1) Γ_i^{t} extends to an analytic f^{n} N: { Z & C | Ref73 > 0} -> C Ω (Stein & Shakarchi Ch. 6 Prop. 1.1) (2) Define $\widetilde{\Gamma}: \mathbb{C} \setminus (-N_{20}) \to \mathbb{C}$ via $\tilde{f}(2) := \frac{1}{2i \sin(\pi 2)} \int t^{2-1} e^{t} dt$ is the so-called "Hankel where G -Rtie -R-ie contour ": radius of circle: r width of corridor: 22



 $|r^{2-i}| = |exp((a + ib) log(r))|$ = exp(alog(r)) → O as r→o Since aso.

 $\left[\begin{array}{c} i\Theta(2-1) \\ e \end{array} \right] = \left[\begin{array}{c} i\Theta(a-1+ib) \\ e \end{array} \right] = \left[\begin{array}{c} e \\ e \end{array} \right] = \left[\begin{array}{c} e \\ e \\ \end{array} \right] = \left[\begin{array}{c} e \\ e \\ \end{array} \right] = \left[\begin{array}{c} e \\ e \\ \end{array} \right]$

The two vertical lines converge to The gamma f":





 $(t-iz)^{2-1} = exp((2-1)\log(t-iz))$ $\log(t-iz) = \log((t-iz)) + \log(t-iz)$

 $= \left(\begin{array}{c} -r \\ (t-i\epsilon)^{2-1} \\ -R \end{array} \right) e^{t-i\epsilon} dt \xrightarrow{\epsilon \to 0} \int_{dt e}^{r} \frac{1}{i\pi(2-1)} e^{2-1} t \\ -r \\ -R \end{array}$

and similarly,

 $\int_{-\pi}^{\pi} (t + i \varepsilon)^{2-1} e^{t + i \varepsilon} dt \xrightarrow{\varepsilon \to 0}_{-\infty} e^{i\pi (2-1)} e^{R} tt^{2-1} e^{t} dt$ Summing up we get the sh(TTZ). => IT extends I since they rarce on Ref2370. T is meromorphic since it is the int. of a meromorphic pⁿ. The poles are the Zeros of Sin(TZ). Note when ZENZ, we get removable Singularities i $P(2) = \tilde{P}(2) \qquad for \qquad Re\{2\} > 0$ and Γ itself is analytic for $Re\{2\}$, So <u>1</u> can only generate polos on Pro(24, 20,